KEDARZSEROMS

H5 H23 H24 H25 H26 H27
HEAOA 1,283,271 1,430,139 1,433,645 1,437,356 1,441,971 1,445,517
SNREH B 787,512 787,660 807,237 805,530 828,818 1,233,912
ZEEH C 68,269 189,503 197,293 202,866 204,016 213,413
2ZEE (AOZE) (%) CIA 5.3 13.3 13.8 141 141 14.8
2ZHE (HHFE) (%) CB 8.7 241 24 4 25.2 24.6 17.3
? TE RE 498,225 758,606 777,659 775,805 799,436 1,187,109
4;““ HEEDEN 39,211 180,040 187,868 193,081 194,295 203,638
52 T ZEE (HREE) (%) 7.9 23.7 24.2 249 24.3 17.2
# | BTHEBARER 289,287 29,054 29,578 29,725 29,382 46,803
B BRI S22 A 29,058 9,463 9,425 9,785 9,721 9,775
B 22% HEHE) (%) 10.0 326 31.9 32.9 33.1 20.9
BEERER 4,047 12,438 12,811 14,033 14,022 14,273
| EHEBRE (%) 5.9 6.6 6.5 6.9 6.9 6.7
ERZEEHR 2,489 9,480 9,937 11,121 11,191 11,513
| #RE2E (%) 615 76.2 77.6 79.2 79.8 80.7
NATH21=F 166 575 596 636 668 708
NARREZRZE1 0FAR) 243.2 303.4 302.1 313.5 3274 331.8
BEHAAEIE (%) 57.8 61.9 59.1 61.3 65.4 65.4
BiERIGERE (%) 6.7 6.1 4.7 45 4.8 5.0
BADELDHDE 5 39 45 34 43 42
FERERRIDE 1,884 142 232 154 151 118
AREAZEE 36 2,958 2,874 2912 2,831 2,760
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